20238 20ilat LetelH wSAIE ot
A DSX
3 WS WS
o9l WSAI (Bt &)
SA - B SRI(BH) - MRAR - BAS Ofl &t e HIREY
WEXIA 33,261,100 31,134,653 2,126,447
= 4,000,218
o 350,000
l 18,400
= 2,832,116
= 26,060,366
(BN 33,244,300 31,120,453 2,123,847
= 4,000,218
[as 350,000
Il 18,400
= 2,832,116
= 26,043,566
nsHy 432,674 249,429 183,245
= 1,479
Il 18,400
= 26,484
= 386,311
nSHE 48,214 39,429 8,785
201 Zet2d| 24,514 25,729 1,215
01 At2teltl 20,554 21,769 N1,215
NIEBSESUH ANES €
5,000,000& 5,000
NEEAHLH SE+E 25 7Y
1,000,000 1,000
NSESUH 220 2HAH]
4,000 x90JH =4 & x33] 4,320
NNSAY PR A
8,000% x4 +562] 1,792
NAIRES Fatl 70,0002 122 840
NnSHEEE a0 W
66,0002 *30H 1,980
NESIIGX2 63,9002« 1CH+ 12 767
DEPIE=E=PI=p3= 65,8003 * 12 790
NREAX NS LHAL =42
500,000 x224 1,000
NESAHE AL 1,000,0002 12 1,000
NAEIA HEZAM & ¥ = A4 7Y
1502 %3,0005 450
NALIH S5 ¢=2 228 7Y
1,615,000 1,615
2 =523l 3,960 3,960 0
NREE S22l ANAE KX 244
330,000+ 12 3,960
202 OdH| 11,700 11,700
01 =LHOIHI 11,700 11,700




A DSX
3 WS WS
Chel: MEMH (Bl mR)
SA - BH - SRI(B) - MRAR - BAS Ofl st e HIDEY
NDSHY 22E =UH0IL]
50,0002 x4 +562] 11,200
RSB ZLE =Kol
50,0002 *1& 102 500
203 R =& 2,000 2,000
03 A=A R=EIH| 2,000 2,000
NEOIS U olaEE HE
2,000,000& 2,000
405 XH&HF S 10,000 10,000
01 It =S F S 10,000 10,000
DAL ZEA IS LSAAY P
10,000,000 1CH 10,000
SENSSH(ZHASEAN2S(EX) 288,400 208,000 80,400
Il 18,400
= 270,000
307 glztol 288,400 208,000 80,400
Il 18,400
= 270,000
05 2I2tRIE =S 288,400 208,000 80,400
NSERS+HH(ZHASHAN2SHIEE
288,400,000 288,400
Il 18,400
o 270,000
IR HEAI2ZSXE(EX) 62,160 0 62,160
= 18,648
o 43,512
307 2i2tol 62,160 0 62,160
= 18,648
= 43,512
9 2=EAHEX=S 62,160 0 62,160
NHIRXMEA 2S X2 62, 160,000& 62,160
= 18,648
o 43,512
DENSHHA ST LR (EX) 18,900 2,000 16,900
= 1,479
= 3,33%6
= 14,085
301 EtE2 N = 18,900 2,000 16,900
= 1,479
& 3,336
= 14,085
4IIE2d= 18,900 2,000 16,900
NDEXN2HHGS T QeI
18,900,000 18,900




A nSK
M HSwsSKd
Helr nsdHA (che &)
S - BB CRI(S) - NIRAY - BaS 01l bt e HIm =2t
= 1,479
= 3,336
= 14,085
DEXNXEOIHEEETNLR(BEX) 15,000 0 15,000
T 4,500
= 10,500
402 2I2EX =01 N 15,000 0 15,000
= 4,500
= 10,500
02 QIRERHE AL B X (OIH N2 15,000 0 15,000
NDBX IHE0ISZR IR &X|
15,000,000& 15,000
T 4,500
= 10,500
IME==yNI==S 130,570 71,7% 58,774
= 1,564
= 10,000
= 119,006
ME=yNj= 82,964 71,79 11,168
201 LUt AH| 79,214 70,79 8,418
01 At 22l 4,088 4,510 AN422
DAIREE #< 70,000 x12& 840
DOIEXSAE Ha T M 800,000& 800
DXSXEA QHASE A 2E
15021%10,00052 1,500
NHBIY THE Y DEE2 SH2
,000& *1CH*4S 200
DLSALD0NE HNEE 2
300,002 300
NISXE LLFX AL
8,000& x 18 +563| 448
02 B2=2gt| 75,126 66,286 8,840
DA KSKHA 390,000 *1CH 390
DX S E2H] 2,000,0002 *1CH 2,000
DX SFH| 1,9202*1,5002| & 2,880
DAA MY HSE IXNAIAL R
= 330,000& x12& 3,960
NUSHFAIEE RABF-(RESS, EEE . &
28) 350,000 *407H 2~ 14,000
NI NECHERY| MI|HAF =42
2,000,000& +7CH 14,000
DNUSOHEAES M2
1,000,000& *12& 12,000
DU EHAE 2TV SAR2S
24,000 =250+ 123 7,200




2 A

T HERSNE
&elr nskE (e &2
S - FA - BR(8) - MIRAR - BaR Ofl st e HIDEY
NS IAAN et & ST
3803 #4,100S+ 128 18,69
202 04l 3,750 1,000 2,750
01 SLHo4HI 3,750 1,000 2,750
NWSNE PR=E SLHOHI
50,000 18 *602] 3,000
NS2A P2F8 =UoY
50,0008« 1 *153] 750
WSA DN SAHAIES LR 20,000 0 20,000
401 AIEHIZ SO 20,000 20,000
01 Al&HI 20,000 20,000
Ne®: A2 Wl & 2=
1,000,000 *207H A 20,000
WEMIAEEHHECHMAILELX(BX) 25,000 0 25,000
s 10,000
= 15,000
401 AIZHIXL 20| 25,000 0 25,000
= 10,000
o 15,000
01 Al&HI 25,000 0 25,000
DAL 218 82 HEAIE X
25,000,000& 25,000
== 10,000
= 15,000
loD |2 X HLHIAAZZH AP EH(2X) 2,606 0 2,606
= 1,564
= 1,042
401 AIZHIXL 20 2,606 0 2,606
= 1,564
o 1,042
01 Al=H| 2,606 0 2,606
NleTIEt AISE FABZHATS
2,606,000 2,606
= 1,564
= 1,042
et usS 20,603,956 17,774,528 2,829,428
= 3,576,975
= 2,304,632
= 14,722,349
He WS 24,544 21,544 3,000
201 er2d| 2,544 2,544 0
01 AlR2teltl 2,544 2,544 0
N NSAPFE O{AH]
8,000 x3& *563 1,344




o

-~

4l

A WSKIAD
T SRS
Bl olaus ==
A - ZB . O9(8) - NEAY - BaS 0il ke e fimE=T
DAIREZ I 100,000 123 1,200
202 044l 22,000 19,000 3,000
01 =04 bl 22,000 19,000 3,000
Dofl& s =L 50,0003 *5H 602! 15,000
DA wS S2E 2O
50,0003 2% *703] 7,000
AL 2GR 2,497,000 2,127,000 370,000
207 AN 16,000 16,000 0
01 HELH| 16,000 16,000 0
DA DNSEY FHUHE (WAL 2EXH)
= 4,000,000& 42 16,000
307 QI2H0| ™ 2,481,000 2,111,000 370,000
09 2+YHEXZ 2,481,000 2,111,000 370,000
NENME =M sigd FII2g X
41,000,000& 42| 164,000
1)g2~Itek 28 (M A OF2t28 X
78,750,000 *4= | 315,000
1S=3~419 28 {4A oFt28 X
295,000,000& 22| 590,000
NSZ~Ex 2F (2HH o2& X
36,250,000 42| 145,000
DIDIE Z2SH NR(ILMER 75 g2
) 350,000,000 23] 700,000
DRI 2 Hae FIISHNR
332,000,000& 332,000
DAXIE S HI|128 XY
8,750,000 *4:=D| 35,000
DEYAE G2 FII28 KA
50,000,000& 4= 200,000
A2 A3 6,025,000 5,175,000 850,000
201 et AL| 175,000 175,000 0
01 ArR2teltl 1,000 1,000 0
NOIE2E AIPEE U 222 7
25,0003 *23|*20H 1,000
02 2324l 174,000 174,000 0
RS HEM, M Y UM MADHS
A& 74,000,000& 174,000
307 21Z2t01 A 5,850,000 5,000,000 850,000
09 2+HEXS 5,850,000 5,000,000 850,000
NE2H #EE, & L 2Hd 2GXA
5,850,000,000& 5,850,000
HBALASHHSH 418,208 383,926 34,282
201 LBt AL| 218,208 183,926 34,282
01 ArR2teltl 6,700 8,938 N2,238
(RS ImESTal 150,000 x4 H*13] 600




2N

WSKIE 4

T YEDEXD
Eelr e ns (&9 &2l)
SA - BB SRI(B) - MRAR - BAS Ofl st e HIDEY
e A2B 8 30,0002 x4 120
DAIREE 7Y 70,0002 x2)4* 122 1,680
Net, 822 S MYl
500,000& 22 1,000
Nael 2 A =8 300,000 14 300
NEAS T1=t] 100,000& 5 & »23| 1,000
DEEEEREET PN
8,000 x5 +503] 2,000
2 35224l 211,508 165,988 45,520
Naol=E 23 30,0002 x12& 360
NE=I1 A8& 33,0002 *3CH* 122 1,188
NEI AIE2 120,000 x40 2% 123 5,760
NALLS =3 960,000& 960
nNgges dA @3
100,000& *2JH %123 2,400
NEZANEE 2ER (UM, 82,024, 8=F)
40,000,000+ 1CH 40,000
1EZAESE H2H(ER)
1,500& %16,0002| E1 +62] 144,000
NEZAES B8R
3,300& *3002| E1 %62 5,940
NEZAIElS deR K|
1,000,000& 10 10,000
Neg 2aa0tl 300,000 3 900
401 AIEHIX 20 200,000 200,000
01 Al&HI 200,000 200,000
NEZAEIS S2BA 2=2lt]
200,000,000& *13] 200,000
HSxoAd=S A 257,570 257,570
201 823 57,570 57,570
02 =324l 57,570 57,570
DEL 2z & 3ldz
700,000 % 12 8,400
NHALSAXIY B2 SKE%
35,970,000 35,970
NENAUSHERIZIASIAIAY RXIE
3,300,000 42 13,200
307 glzZtold 200,000 200,000
09 2+AEXS 200,000 200,000
N2 ML 2L 200,000,000& 200,000
H=0HL2UXNR(EX) 9,153,950 7,153,950 2,000,000
= 3,576,975
= 1,430,790
o 4,146,185
307 21ztold 9,153,950 7,153,950 2,000,000
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SN DEXED
3 HsusSkA
=l =SdusS (SH9l: &2
SA - BB BR(B) - MSAR - BES ofl kot e MimE=T:
iy 10,815,900
SANS 17,434 17,794 A360
201 Bt AY| 2,184 2,544 A360
01 AFR2telbl 2,184 2,544 A360
NADNEA 2 =XIDAH|
8,000& *3&H 563 1,344
NAIRZ2E32H| 70,000 12& 840
202 4| 15,250 15,250
01 2L Y| 15,250 15,250
NEANEALF=XZ2LHMH]
50,0002 x3E *763] 11,400
NFANEALFRZL2XZ2H Y]
50,0002 x1H*773] 3,850
HASGHE2S 4,716,439 4,263,488 452,951
201 L2 AY| 1,200,439 1,175,888 24,551
01 AtR2t2|H| 185,300 148,335 36,965
1) B2LHAHSEHIZH]
50,000& *2J1 x93 900
NZ2EHASEIAIMRI &2
110,000 *12& 1,320
1NZ2GHASEI|AHIIZ2H|
110,000 *81 & %23| 17,820
N2GHASEZSAINS L ZE
1,200,000& *8121 97,200
1)ACSH2EBAHAEHODIGAIRE
25,000,000& 25,000
NE2gHAYUAESERL!
250,000& * 12& 3,000
1NZ2YGHA S2LSAH JIEOHA WSH|
3,000,000& 23] 6,000
NXEESANLADEY|
1,000,000& *63] 6,000
N2IHAZSXIIESER
1,000&%670,00024*0.0233] 15,410
1)Z2YEHAZSXIIEMZ |
5,000& *1,0007H 5,000
1N2EHARSEA 700, 0002 *9H 6,300
1)2YHAGHIIH A X 150,000 *9H 1,350
02 222ZH| 1,015,139 1,027,553 N12,414
1N2IHA XS XA 30,0002 *7690 A 2,280
1) 2L AMIXH] 200, 750 x7CH* 122 16,863
N2g9HABE2 2,800,000 ~76CH 212,800
1N29HARFHI 701,436,000 701,436
1)Z2EHAZAAI ARSI E 24|
330,000& +12& 3,960
1) SHAZXESIH] 15,000& x76CH = 12& 13,680




A DSX
T SRS
ol SdusS (chel:&el)
SA - BB SRI(B) - MRAR - BAS Ofl st e HIDEY
NHASZHAISRES
2,500,000 ~12& 30,000
NHASBZFZRT2L
200,000 * 10094 A 20,000
NBYHALSOLUMAILAS SR
30,0002 76 CH 42 9,120
N3 SHAS I ISEIIKFA 22
5,000,000 5,000
307 2lztol 3,320,000 3,020,000 300,000
09 24K BxZ 3,320,000 3,020,000 300,000
NBYHATHZ I 3,200,000,0002 3,200,000
ZYHASSEATE XD (HE)
120,000,000 120,000
401 AlEHIZ 20| 32,000 60,600 28,600
01 Al 32,000 60,000 28,000
DHASY IR
16,000,000 *2JH 2 32,000
405 AbaHE SH 164,000 7,000 157,000
01 Tt =EFISH 164,000 7,000 157,000
NAIOSI 2t 2R A HHX 7
120,000,0002 = 1CH 120,000
NEIHA(SY) nSHesE)| 2
4,400,000& * 10CH 44,000
HAZSHESE (2X) 1,246,000 2,050,000 804,000
= 420,000
& 476,000
= 350,000
307 2I2t01 700,000 700,000 0
= 350,000
= 360,000
08 2P AHEXS 700,000 700,000 0
NsHEHATHE X 700,000,000 700,000
& 350,000
= 350,000
405 AHaHE SH 546,000 1,350,000 804,000
= 420,000
= 126,000
01 T = EFSH 546,000 1,350,000 /804,000
NEIIHAM R 546,000,000 546,000
= 420,000
s 126,000
S wnsSHEXZ 809,867 836,058 A26,191
201 er2d| 109,288 86,251 23,037
01 AtR2teltl 56,800 61,225 AN4,425




A nSK
M HsSwsSKd
=Pl SdusS (e )
S - BB CRI(S) - NIRAY - BaS 01l bt e HIm =2t
1EIAIZ D 50,000 *59CH* 123 35,400
NEAZISHELSE
300,000 * 104 3,000
DHEHSESIHARMOIHHAILAIEZZ
1,100,000& =10 A% 12 13,200
NREQHBL| LU Piga2R
1,300,000 *43] 5,200
02 32| 52,488 25,026 27,462
DHATSHHAIAHAI L EHIR X2 4
15,000,000& 15,000
NEFACHEIISAE
30,0002 *55CH* 123 19,800
NEFAIIFI2
10,000 #5501 4+ 12& 6,600
NI SAZ 22,0002 *420H x 122 11,088
307 SIZ2H0| ™ 569,797 618,974 AN TT
09 2+YHEERS 569,797 618,974 N9 TT
DNeN~SEASHHATHE X
490,000,000& 490,000
NESDH100AHA X
700,000& *12& 8,400
DNEAIES+=S L SAIHIXIA
15,5003 «50CH + 12& 10,974
DHASSY WSIHEEOIXA
4,000,000 x12& 48,000
DEX~ZF 20284 SAIXRA('2
H B 2) 12,423,000 12,423
308 AtXISHHMSOIH 782 833 VaNS)
1 SISO B A X LAEAIS I 782 833 A51
NEAISSE B A A AB 2|
782,000 782
402 QIR =201 A 130,000 130,000
01 QIZEXH2 A 2 = (KM ) 130,000 130,000
1)AIOHOI 4 CHIH| XE OF M & X 2 2
130,000,000 +1CH 130,000
MNEEBXNSIRIHEES 2,340,000 2,340,000
307 SI2H0| ™ 2,340,000 2,340,000
09 2+YHEXS 2,340,000 2,340,000
DAL EXS USSR
2,340,000,000& 2,340,000
1004E8 Al 2 K& 177,000 177,000
307 2I2+0| & 177,000 177,000
09 2+YHEES 177,000 177,000
DI04 AI SRS A H A
250,000 *59CH =12 177,000
104N 2 XIJA (B X) 1,560,000 1,500,000 60,000




A DSX
33 WS WS
o2l F4US (S &)
SA - BH - SRI(B) - MRAR - BAS Ofl st e HIDEY
ras 50,000
& 15,000
= 1,495,000
307 glz2told 1,560,000 1,500,000 60,000
= 50,000
S 15,000
= 1,495,000
09 2+LAHEES 1,560,000 1,500,000 60,000
11004 A2 X2 130,000,000& x12& 1,560,000
= 50,000
=S 15,000
= 1,495,000
104HA2E XA 109,960 0 109,960
201 er2d| 19,960 19,960
01 At2teltl 16,000 16,000
11004812 2B A SXEZAE
1,000,000& 1624 16,000
2 =234l 3,960 0 3,960
11004t & FAAIAE S 2=H]
330,000+ 12 3,960
405 AHoHFSH 90,000 90,000
01 ML ESFHSHI 90,000 90,000
110042 CHEIXH 72 (REIRIR)
90,000,000 90,000
1004H A2 S XA (EX) 1,100,000 1,039,960 60,040
= 300,000
= 800,000
307 2I2t01 M 1,100,000 1,000,000 100,000
= 300,000
o 800,000
09 2+HHEXS 1,100,000 1,000,000 100,000
1104 A2 S X & 1,100,000,000& 1,100,000
= 300,000
= 800,000
ZALENSIIE(EX) 400 400 0
= 200
o 200
308 AXIEHMSOIE 400 400 0
= 200
= 200
11 SI 2SO & EASAIS I 400 400 0
NEAAEWNEE0LLI XX
400,000 400
= 200




SA WS
HE: 1E
el |4 )
SA - AEIH) - KSAY - BES Ofl st e 2
[ ] 2 200
=22 16,800 14,200 2,600
Jl23Hl 16,800 14,200 2,600
JI=23H] 16,800 14,200 2,600
101 @124H| 1,600 1,600 0
08 SPA(FIIH )2 1,600 1,600 0
NBLH gexx 2
50,0002 x4 H 8 1,600
01 LEH2SHI 3,000 3,200 A200
01 At 2t2l8l 3,000 3,200 A200
FA=E 150,0002 x20H 3,000
8,000 5,200 2,800
8,000 5,200 2,800
50,0002 x 13«82 5,200
50,0002 x7 E+832] 2,800
203 AR=a 4,200 4,200
M E2A2E 4,200 4,200
1)2521016t 350,000 * 122 4,200




